BV A Bicb : A H
SRR @DE 10 )
me L (Vv L) 2%
| | m3I2oWT, ROBWIZEZFLLEY), OFTWVFERZTYFELLI, )

@D | m3EfIcm3TT 5,

I 'm |
S
|l OO0OX 1 OO0OX | O0=
i ( )
@ JentuzomrEsz s,
| cm3 =@mL
m3 L Cr;nlf
Im3=[ IOOO]L I,
| O O O

2 ROMLEDEEIAMITTY, T, ALTT (3T VEEARFYEL LS, )

i 1.5m

#x: 3 X2X|.b= (m3)

i ( m3) - ( L)

® FiE g%-@i @i Wg%@k



ELHRS Bicb : A H

me L (Y L) 23

| | m3I2oWT, ROBWIZEZFLLEY), OFTWVFERZTYFELLI, )

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =DmL

Im3=[ IOOO]L I

cm3

2 ROMLEDEEIAMITTY, T, ALTT (3T VEEARFYEL LS, )

P 1.5m

A - 4X3X|.5=|8(m3)
w7 ( m3) - (12000 L)

@ HER % @“5?%3%@%@



SGHRDEEE 10

me L (Y L) 23

ELHRS Bicb :

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
S
X X =
Lz (
@ JentuzomrEsz s,
| cm3 = D mL
m3
I m3 - [ ]l— l 3
m
| O

2 ROLGCOHEIMAMITT b £/, FAILTT D,

® MR

cm3
mL




ER3P Bizb : A H
SRR DEG 10

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
"
X X =
i ( )
@ JentuzomrEsz s,
| cm3 = D mL
cm3
m3 L mL
| m3 = [ ]l— Im3
| O O O

2 ROLGCOHEIMAMITT b £/, FAILTT D,

:‘Zm
[ I m3=|OOOL%]

X: 4X0.5X2= (my

i ( m3) - ( L)

o wn HITBIBRYAY




ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
=%
£z ( )
@ JentuzomrEsz s,
| cm3 = [ij
cm3

m3 L mL
I m3 - [ ]l— l 3

m

| O O O

2 ROLGCOHEIMAMITT b £/, FAILTT D,

x ( m3) - (

L)
® & % @“@?@@%@h@



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
=%
£z ( )
@ JentuzomrEsz s,
| cm3 = [ij
cm3

m3 L mL
I m3 - [ ]l— l 3

m

| O O O

2 ROLGCOHEIMAMITT b £/, FAILTT D,

x ( m3) - (

L)
© & % @“@?@@%@h@



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
=%
£z ( )
@ JentuzomrEsz s,
| cm3 = [ij
cm3

m3 L mL
I m3 - [ ]l— l 3

m

| O O O

2 ROLGCOHEIMAMITT b £/, FAILTT D,

1 1.5m

x ( m3) - (

L)
@ EH % @“@?@@%@h@



(B A3 HiZH : A H
T ———

me L (Y kL) 2%z

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
=%
£z ( )
@ JentuzomrEsz s,
| cm3 = [ij
cm3

m3 L mL
I m3 - [ ]l— l 3

m

| O O O

2 ROLGCOHEIMAMITT b £/, FAILTT D,

_____________________ ’ 1.5m

x ( m3) - (

L)
® EH % @“@?@@%@h@



ER3P Bizb : A H
SRR DEG 10

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =[ij

| m3 = | JL

cm3

2 ROLGCOHEIMAMITT b £/, FAILTT D,

2m o
[ I m3=|OOOL%]

i ( m3) - ( L)

o HITBIBRYAY




(B A3 HiZH : A H
T

me L (Y kL) 2%z

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =[ij

Im3=[ ]L

2 ~T3m. #2m, &X1.5mOEHKOEEIIMmM3TT A,
T, ALTTH,

© fkiF EE* ”@““5@‘“5@3%@%@



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =[ij

Im3=[ ]L

2 ~T5m. BAm. BI2.5mOEHROHELAMITT b
Fr, ALTIT A,

@ ki EE* ”@““5@‘“5@3%@%@



ELHRS Bicb : A H

me L (Y kL) 2%z

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =[ij

Im3=[ ]L

2 ~T4m, #E8m, BX2.5mDEHKDEIEIIMmM3TT A,
=, ALTT A,

@ fLif EE* ”@““5@‘“5@3%@%@



ELHRS Bicb : A H

me L (Y kL) 2%z

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =[ij

Im3=[ ]L

2 ~T2m,. #3m. X 1.5mOEHKOEEIIMmM3TT A,
T, ALTTH,

@ ki EE* ”@““5@‘“5@3%@%@



ELHRS Bicb : A H

me L (Y kL) 2%z

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

@ JeptirzsmrEszLe,

| cm3 =[ij

Im3=[ ]L

2 =T3m. #I.5m, BX4mOBEHEROEKEIMmMmITTH,
=, ALTT A,

@ fLif EE* ”@““5@‘“5@3%@%@



CFRD HEEBOL! Q

SHRDEE 10 <
mL (Vv biL) 237
| I m3ic>0nT, ROBWIZZEAZFZL LD,
D | m3lFfecm3TT A, (204)
Im::'
X
i ( )
@ JiptirzsmrEszLed. (£204)
- lcm3 = [j mL
. I m3 = [ ] L
2 =T6m. #EIm., B0.5mDEAEROKEIIFAMITT b,
Fr-. AILTT D, (H20%)
3
Ez ( m3) ( L)

® HEHL EE* @ig?g@%%@hz



CGHIRD X EBO! Q
2 0 & m

meL (VJwy bIL) 237

| I m3icHo0nT, ROBWIZZZEIL LD,

D | m3lFfecm3TT A, (204)

@ JiptirzsmrEszLed. (£204)

- | cm3 =[ij

-Im3=[ ]L

2 £~T8m. E2m, BX1.5mOEHKRDEEIRFAMITT 5,
Fre. ALTTA, (£204)

® HEHL EE* @ig?g@%%@hz



ELHRS Bicb : A H

me L (Y L) 23

| | m3I2oWT, ROBWIZEZFLLEY), OFTWVFERZTYFELLI, )

@D | m3EfIcm3TT 5,

E29

|l OO0OX 1 00X |1 O0=1000000
%2 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ IOOO]L |

cm3

2 ROMLEDEEIAMITTY, T, ALTT (3T VEEARFYEL LS, )

i 1.5m

X: 3 X2XI[.5=9 m3
%z ( 9 m3) - (. 9000 L)

@ PiEE B % @“g@‘@}g%@kz



ELHRS Bicb : A H

me L (Y L) 23

| | m3I2oWT, ROBWIZEZFLLEY), OFTWVFERZTYFELLI, )

@D | m3EfIcm3TT 5,

E29

|l OO0OX 1 00X |1 O0=1000000
%2 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ IOOO]L |

cm3

2 ROMLEDEEIAMITTY, T, ALTT (3T VEEARFYEL LS, )

P 1.5m

3
sz ( | 8 m3) - (18000 L)

@ HR EX % ”@““5‘@‘“5’@3%@?%@



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

|l OO0OX 1 00X |1 O0=1000000
%2 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ IOOO]L I

cm3

2 ROLGCOHEIMAMITT b £/, FAILTT D,

%0 4X2.5X1=10 (m3)
£2C 10 w3 - ( 10000 L)

@ R Ex % ”@““5@‘“5@3%@%@



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

|l OO0OX 1 00X |1 O0=1000000
%2 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

cm3

Im3=[ IOOO]L I

2

X: 4X0.5X2=4 (my
%z ( 4 m3) - ( 40000 L)

@ R Ex % ”@““5@‘“5@3%@%@



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[|OOO]L I

cm3

2 ROLEDHEEFMITY b, &/, ALTT S

i0.5m

£: 4 X | X0.5= 2 (my
52 (2 m% - ( 2000 L)

® EE EX % '@““5?[‘5@3%@/@\5%



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ IOOO]L I

cm3

2 ROLEDHEEFMITY b, &/, ALTT S

: 3IX2X | =6wmy
gz ( 6 m3) - (. 6000 L)

GOF-F-71 % '@““5@‘“5@3%@%%



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

I 'm |
N
|OOX 00X |00=1000000
21 ( 1 000000cm3 )
@ JiipTuzameEsEL LA,
Icm3=@mL
m3 L Cr:]lf
Im3 = 1000 |L 1|
| O O O

2 ROLEDHEEFMITY b, &/, ALTT S

1 1.5m

X: 4 X3 XI[.H5=18 (my
w1 ( | 8 m3) - ( 18000 L)

@ EE &2 % '@““5@‘“5@3%@%%



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ IOOO]L I

cm3

2 ROLEDHEEFMITY b, &/, ALTT S

X: 2X 3 X[1.5=9 (m3
s ( 9 m3) - (. 9000 L)

B ITBICRYAY

@
il
i
¥
i



ELHRS Bicb : A H

me L (Y L) 23

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

cm3

Im3=[ IOOO]L I

2

x: 3 X0.5X2=3 (m3y s
w7 ( 3 m3) - ( 30000 L)

OF-F-71 % '@““5?“5@3%@%@



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ | 000 ]L

2 ~=T3m. #E2m. X 1.5mOBHEROEIEIIFMITT 5,
F/-. LTI D,

£ 3X2X1.5=9 @my

zx ( 9 m3) - (9000 L)

® HEif Bz % @i g @i 5@3% @hz



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ | 000 ]L

2 ~T5m. BAm. BI2.5mOEHROHELAMITT b
Fr, ALTIT A,

X: B X4 X2.5=50 (m3

zx2 (50 m3) - ( 50000 L)

@ HEif Bz % @i g @i 5@3% @hz



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ | 000 ]L

2 =T4m, B8m, BX2.5mOEBEHERDEEIIMAM3ITT H,
Fr-. LTI H,

X: 4 X3 X2.5=80 (m3

gz (30 m3) - ( 380000 L)

@ HEif Bz % @i g @i 5@3% @hz



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ | 000 ]L

2 =T2m. #3m, BX1.5mOBEHEROEEIIMAM3ITT 5,
Fr-. LTI H,

X: 2X3X1.5=9 (my

zx ( 9 m3) - (9000 L)

® HEif Bz % @i g @i 5@3% @hz



HIZE : A H
Z2EA

| I m3icHo0nT, ROBWIZZEZZIL LD,

@D | m3EfIcm3TT 5,

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JeptirzsmrEszLe,

| cm3 =@mL

Im3=[ | 000 ]L

2 7=T3m. BI.5m. 5S4 mOBEHEROEEIIAM3ITT 5,
F=. AILTTH,

x: 3 X|.5X4 =18 m3

zx ( | 8 m3) - ( 13000 L)

@ i Bz % @i g @i 5@3% @hz



HIEB805!
Th

23FA

| I m3icHo0nT, ROBWIZZZEIL LD,

D | m3lFfecm3TT A, (204)

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JiptirzsmrEszLed. (£204)

| cm3 =@mL

Im3=[ | 000 ]L

2 ~Té6m. HIm. BI0.5mOEHEKOKIEIAMITT b,
T AILTYA, (B20%)

x: 6 X | X0O.5= 33

zx ( 3 m3) - (3000 L)

® NEDL Bz % @i g @i %’03% @ i\ﬁz



HIEB805!
Th

23FA

| I m3icHo0nT, ROBWIZZZEIL LD,

D | m3lFfecm3TT A, (204)

E29

100X 100X I00= 1000000
23 ( ] 000000cm?3 )

@ JiptirzsmrEszLed. (£204)

| cm3 =@mL

Im3=[ | 000 ]L

2 £~T8m. E2m, BX1.5mOEHKRDEEIRFAMITT 5,
Fre. ALTTA, (£204)

A - 8X2X|.5:24(m3)

xx (24 m3) - ( 24000 L)

® NEDL Bz % @i g @i %’03% @ i\ﬁz



	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8
	スライド 9
	スライド 10
	スライド 11
	スライド 12
	スライド 13
	スライド 14
	スライド 15
	スライド 16
	スライド 17
	スライド 18
	スライド 19
	スライド 20
	スライド 21
	スライド 22
	スライド 23
	スライド 24
	スライド 25
	スライド 26
	スライド 27
	スライド 28
	スライド 29
	スライド 30
	スライド 31
	スライド 32

